Nombres Décimaux (C)

Trouvez chaque différence.

73,5-55,6 = 13,4 -8,16 =
98,6 - 63,2 = 76,4 - 0,759 =
92,5-0,328 = 36,2 -0,723 =
469 - 12 = 782 -28,9 =
74,6 - 9,13 = 917-59,2 =
87,3-0,182 = 71,8 -0,832 =
0,382 - 0,286 = 3,17-0,625 =
675-53,7= 957 - 653 =
68,8 - 38,5 = 95,3-0,337 =
398 - 0,154 = 846 - 0,931 =
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Nombres Décimaux (C) Solutions

Trouvez chaque différence.

73,5-55,6=17,9 13,4-8,16=5,24
98,6 - 63,2=35,4 76,4 - 0,759 = 75,641
92,5-0,328=92,172 36,2 - 0,723 = 35,477
469 - 12 =457 782 -28,9="753,1
74,6 - 9,13 = 65,47 917 - 59,2 =857,8
87,3-0,182=287,118 71,8 - 0,832 =70,968
0,382 - 0,286 = 0,096 3,17-0,625 = 2,545
675 -53,7=621,3 957 - 653 =304

68,8 - 38,5 =30,3 95,3 - 0,337 = 94,963
398 - 0,154 = 397,846 846 - 0,931 = 845,069
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